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We derive ‘Kodesh Kodesh’ from tithing - MWWYNNA WY VTR WP

Overview

The R7n3 states the we derive certain rulings' by *v27 27> from 1w qwyn through the
MW 7713 of wp wp.2 Our noon discusses why this w3 cannot be utilized for other
rulings as well.

mooIn asks:
= (MYNKR HRNNN MNT OWI .K,NY 9T Ma3) 199931 T8I P92 WTINIY Y NNnbT NN

It is astounding! for why do we need to expound in }°292% 7X°> 99 and say -
- 99N PPV P29 DI YIT VAN 9T HPYNN 200950 WP NI

Since it is written, 2991977 w7p, we expound it to mean ‘redeem it and afterwards

you may eat it’; the explanation of this 7w77 is that "»29 292 requires redemption
in order to eat it outside 2°>w1°. The question is why do we need this nwa7 of 2177 WP to teach

us that it requires 217°11 -
- YUINT WTP WIPR DY 719N

We can derive it from *12 9wyn through the w"1 of WP WP (just as *1w Wwyn requires
219°11 to eat it outside 0°9w1, the same applies to *v21 012)?!

N190IN answers:
- 595 11919 19 PRY SPOYAWN YTP YT 139995 NN 11 153 JNIYUNT IND INT 9119 U

And one can say that if we would not have found the concept of redemption by
*¥27 073 (from the P05 of 2221777 w7P) we would have derived *va7 272 from noyoaw
through the same w" of wTp WP, where there is no 1372 at all by novaw -

mooIn anticipates a difficulty:
- D99 1Y PIDIN CWTD %Y INY Y95 MUPAY PN

And we cannot ask at all, why do we need the w"1 of w7P, we can derive 175
>¥27 073 from 2991957 exclusively, as mentioned previously -

! Specifically in our case that just as by w"vn it is redeemed with a w11 even though it is 7123 11n, similarly by a7
°*¥17 it can be redeemed even though it is not in his nMw".
2 In 5,12 (CMmpn2) RIP7 it states '772 WP "W Wwyn 731, and it states WP by *va1 073 (see footnote # 3).
3 The 109 in 72,0 (2°W17P) X, regarding °va7 012, reads, 7172 @Y7 wWTH 999 92 MY NV 77 My
4 We understand the word 2°912°77 (with a 'R"7') as if it were %1 (with a 'n""n"); meaning 917°1 or redemption.
3 The a0 in 22,72 (A72) XP*1 writes 037 770 WP X7 921 °0 (presumably it applies to 2w as well). If one is 59mn
Ny 2w Mo on something, both items retain the Ny aw nu17p.
¢ See “Thinking it over’.
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mooin replies:
= UNIN D YT 999100 TOI0SN YIPT MY N1

For the »''1x of w7 is necessary to teach us that there is a W27 payment by 07

>v27 if the owner redeems his own fruit, which we would not know from 2°917:7 alone -
— (1 Hnomn M7 ow 3,1 91 PYITPT /2 P91 99KRTD

As the X3 states in the second P99 of PwTR NooN.

mooIn offers an alternate explanation (for the original question):
= 75P¥5aWAa DIDIN ISV 139PT NI RD MY N0 DIDIZN IND INT NI 0N 1392

And 1''2 answered that if not for the 7w17 of 2957, we would not know from

the w"13 of W7p that ®Y91 is required on the (seventh) [third®] year -
= 1077 999 W YYNT MYV NN N2 T5rYawa AN Y TUYN PNY

Since @''vn is not observed on the (seventh) [third] year. And 1" brought proof

to this from the s»%217° 7%%0 in 7" w'"v» noon -
= 9219) Y2V ¥ YOI PN NPT HPAYA XN MY TUYN PR NINN NNXT N1 NPT

Where the X723 there states, this what you said that w'"v» is not observed on

noysaw, correspondingly there is no >»29 Yl on noysaw either, etc.
- 5929 YOI 1N NN RY MY IUYN DN PRY YY) MPYIHY DIY OND PN

And the X723 asks there that also in the third and sixth year, where there is no

w''vn, there also should be no w1 for sya= ywr -
1119959 Y5 YUYN Na PN NYAYI MIVYYN DN YW NV NYILY YD) %349 9N

>''3 answered, ‘in the third and sixth year there are other naww», therefore there

is a w»n by °v27 yvl, however by mwaw there is no wy» at all, therefore w"a
maintains that there is no w»11 on N°¥°2w by *va7 yvi.

Summary

7 The n"an mman amends this to read N*w>»wa (instead of N°y>2w3), and similarly amends the N°¥>2w3a on the next line.
See ywi7° 219 ,0"0n and w"w, ete.
8 Presumably no01n means the sixth year as well. See 7°nx 7"7 8,72 M372 'oin.
? See footnote # 7. w"vn is tithed on the first, second, fourth and fifth year of the seven year 7vnw cycle. On the third
and sixth year, > 2w¥n is substituted for >3 wvn. Therefore (if we would only know *¥27 073 97%°11 from w"vn through
wTp wp) we would think that °v37 073 on those two years (three and six) do not require 712°n, just like there is no 1170
of w"yn on these two years.
103"7. The mawn there stated that w"2 maintains that there is no wmn added by *va1 073 on ny>aw. The reason given is
that since there is no w"yn on n°¥*2w (and therefore no wnn) so there is also no wmn for *¥a7 073 on N°¥°2w.
" According to the X077 of 2w (see footnote # 7) the proof of 1" is evident, for the "n%w17 states so explicitly that
there is no w» N by *¥21 ywu1 since there is no w"yn. However even according to the 11277 no7%, the proof is that we do
not merely compare *¥27 273 to ¥"v» in a general sense, but rather we take into consideration the times when w"¥n is
observed. Therefore without 021271 we could have assumed that there is no 212°n1 on 3 and ". (There is no question
from >01 "1 for his argument is now when the 770 wrote 0°217°17, however 0" was discussing without 2°217°77.)
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We need 0°71911 to teach us 71%°1 by *v27 v that it is not like n°v>aw, and we require
the w"m of wMp to teach the rule of adding a wnn. Alternately without 2°21%77 we
would not know 912°11 on *ww ,"w°5w (and n°y°aw) when there is no w"vn.

Thinking it over
mooin asks why we need w7p to teach us the law of 1179, we can derive it from

0'177.12 Why does mooin assume that we derive 9171 by *¥27 073 from w7p; perhaps
we derive it only from 0°9797?!

12 See footnote # 7.
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